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(m2) (m2)
a8 _& 2.467 5. 80




NO. 3

25T HEHEE
8 s CohLt 18R CoshLe 418 AsshEEE IR -
Vas o L
' i
M E | F | % E|WE | Fw | w | wE | Py | BB WE | F g
NO 12 + 18.533 0.50 0.40 NO. 13K T S 2 R
NO 13 + 0.000 1.467 0.50 0. 500 0.70 0.40 0. 400 0.60
NO 13 + 1.000 1.000 0.50 0. 500 0.50 0.40 0. 400 0.40 NO. 138 S8 2 FR
(m2) (m2)
& i 2. 467 1.20 1.00




[ ] X AR AR Rt

4 R Birk HAT 35 At S
ar7Y—h 24N/mm2 m3 132.6 132.6
AU — I, BRA m2 153.3 153.3
KL=z Y—h [18N/mm2 DL m3 5.9 5.9
[F] 2y LA L= H m2 3.4 3.4
=227 YV — 1k |18N/mm2 PA I m3 1.3 1.3
[F] 7R e — TR, BE m2 2.4 2.4
S BRI AT (495), £=200mm | m2 69. 2 69. 2
N SD345, D13 kg 2, 323 2, 323
7 LG SD345, D16 kg 51 51
i AN Pekh 2 35 hm2 45.3 45.3

HEMRE S hm2 29.2 29. 2
1EIKHR CF200 X5 m 7.6 7.6
A T N— ¢ 19, L=600 A 16 16
FE Fyovr ¢ 25, 1=300 & 16 16




SEEREARTI HESZ

&
A= 35 e R AR A T
X 4 EREEY
R R =l X B =
a7 J—h 24N/ mm2
O 1/2%(1.30+2. 239) *3. 13%15. 40 = 85.29
@  2.739%0. 22%15. 40 = 9.28
®  1.00%4. 239%(15. 40-2. 00) +1. 70%4. 239%2. 00 = 71.22
@  -1/2%(1.30+2. 239) %3. 13%5. 00 = -27.69
®  -1/2%2.239%0. 22%5. 00 = -1.23
® -1/2%0.639%2. 13%1. 85 = -1.26
@ (0.68%1. 48-0. 54*0. 23) *3. 35 = 2.96
Pelg —1/2% (1. 07+0. 914) *0. 02%5. 45 = -0.11
i = 138.46
IRF U P b
~0. 58%4. 239 = -2.46
i = -2.46
KR PR
O (0. 60%0. 25-1/2% (0. 39+0. 234) *0. 02) *5. 45 = -0.78
@ 0. 60%0. 25%5. 90 = -0.89
@ -0.42%0. 60%0. 25 = -0.06
@  -0.42%0. 60%0. 25 = -0.06
®  -0.20%0. 45%3. 35 = -0.30
®  —(0.34%0. 45+0. 54%0. 22) *3. 35 = -0.91
i = -3.00
RS AR TR
-0. 635%0. 68 = -0.43
i = -0.43
A7 = 132.57 132.6 m3




SEEREARTI HESZ

&
A= 35 e R AR A T
X 4 EREEY
R R =l X X B =
T — TR (8k5)
Al 1/2%(1.30+2. 239)*3. 13%2 11. 08
A2 2.739%0. 22%2 1.21
A3 4.239%1. 00%2 8. 48
A4 1/2%(1. 30+2. 239) 3. 13%2 11. 08
A5 1/2%2.239%0. 22%2 0. 49
A6 1/2%0.639%2. 13%2 1.36
AT 3.35%(8.92+1. 48) 34. 84
A8  3.268%(8.92+1.48) 33.99
A9 1.00%(15.40-2.00)+1. 70%2. 00-0. 02%5. 45 16. 69
A10  1.22%(15.40-2. 00) +1. 92%2. 00 20. 19
ALl 0. 70%4. 239%2 5.93
Al2 2.13%1.85 3.94
A13  -2.224%1.85 -4.11
Al4 0. 68%3. 35%2 4. 56
i 149. 73
IR U P2 b
A15  —0.58%2 -1.16
7 -1.16
Rtk
D  (11.35%2+1. 02+0. 42%3+0. 60) *0. 25 6. 40
PEBR — (5. 45+1/2% (0. 39+0. 234) ) *0. 02 -0.12
i 6. 28
R R AR TR
-(0. 635+1. 287%0. 68) -1.51
i -1.51
aEt 153. 34 153.3 m2




SEEREARTI HESZ

picil Bl
=R/ 35z A AR A T
X o Bkt EY)
A IR g x B =

YWLar 7 U—Fk |18N/mm2 LLE

V= 4.439%0. 10%(15. 40-2. 00) = 5.95
PERR 0. 62%0. 10%0. 68 = -0. 04
&8 = 5.91 5.9 m3

[F] L35 LAY BL=a i

A= ((15.40-2.00)+4. 439) *0. 102 = 3.57
e - (0. 62+0. 68) 0. 10 = -0.13
&t = 3. 44 3.4 m2

ez y 27 U—1b [18N/mm2 LA L

@  (1/2%(1.978+1.920) *0. 623-0. 10%0. 075) *1. 40 = 1.69
@  -0.58%0. 623 = -0.36
& = 1.33 1.3 m3
[A] b p
A= (1/2%(1.978+1.920) %0. 623-0. 10%0. 075) *2. 00 = 2.41 2.4 m2
pren Yy e R A (457), t=200mm
A= 4.439%(15. 40-2. 00) = 59. 48
A= 0.523%1.60+4. 239%2. 20 = 10. 16
PERR 0. 62%0. 68 = -0. 42
&8 = 69. 22 69.2 m3
ki L
SD345, D13 SE ExRE SR = 2,323 2,323 kg
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o
Tay 7o 35 e R AR A T
X 9 EREEY
R R =l X 7 B =
24 L ekl e 55
O  3.35%8.92 = 29.88
@  1.98%3. 35%2 = 13.27
®  1/2%(2.00+3. 35) *0. 405%2 = 2.17
3 = 45.32 45.3 #m2
HUEE R 5
@  3.268%8.92 = 29. 15
i = 29. 15 29.2 Hm2

LG (k& E8) |SD345, D16 X 300

D  24%2 = 48
@ p—
® = 2
@ (+2)*7 = 21
®  (3+2)%7 = 35
& = 108
W= 108%0. 30%1. 56 = 50. 54 51 kg
IEAKHR CF200 X 5
3. 80%2 = 7. 60
7 = 7.60 7.6 Hm2
Y T N— ¢ 19, L=600 SA/TEFT X 2 = 16. 00 16 A

Wk *yv7 ¢ 25, L=300 = 16. 00 16
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HEFHX

4 % E @& BT @
iz} A R 1% X % H
avsy—+r| ock=18N/mm2 | EHEER Vi= m3
&R V2= (1.60+2. 569) *3. 23/2%10. 0 = 67.3 m3
FEIRERIZERR | V3= m3
BERERIZERR V4= ((0.728+1.328)*2. 00/2+1. 241%2. 50) *2. 00 =10.3 m3
mEE Ly s V5= (1. 771+2. 569) 2. 661/2%0. 866%2 =10.0 | m3
2 V= V1+V2- (V3+V4+V5) =47.0 | m3
pilp —hk. |/ L Al=
FEIRED A2=
LB A3= (3.23+3.372)%10.0 =66.0 | m2
RAE LE Ad= (1.241+0. 50+0. 728) *2. 00 =49 | m2
FRAKER IR A5= (2.50+2. 088)*2. 00 =9.2 | m2
mEmEL YRR A6= (2. 661+2. 778) 0. 866%2 =9.4 | m2
2 A= A1+A2+A3+A4-A5-A6 =52.3 | m2
BiIGT |#48 A1=3.230%10.0 = 32.3 | #m2
BEIER A2=3.372%10.0 = 33.7 | #m2
TR |1 THR— R A= ((0.728+1.328)*2.00/2+1. 241%2. 50) *2. 00 =10.3 | Z=m3
B#u#f  |t=10mm =4 N= =20 | &F
A= 8. 4%2 =16.8 | m2
2w Fn— 19, L=600 =80 | K
Bt FvvF| @25, L=300 =80 | &
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PRk TG

4 R Bk BT 95 10% I At S
ar7Y—h 24N/mm2 m3 2.24 1.76 4.0
AU — I, BRA m2 18.18 15. 35 33.5
KL=z Y—h [18N/mm2 DL m3 0. 36 0. 26 0.6
[F] 2y LA L= H m2 0.78 0. 64 1.4
S e R A (475), £=200mm m2 3. 60 2. 56 6.2
TV —F T T-25, 1800 X 900, t=148 il 1.0 1

T-25, 1000 X 1000, t=106 i 1.0 1
2T w7 303X 138 1 4.0 4
SRS SD345, D13 kg 137 116 253
e ¢ 600, L=2. Om N 2.6 3
777 —h ¢ 600Jf] 5 1 1




% 5 M®HI HEEHE
CE=F- Y/
] ] ) ,4\[,:::1 -— )
3 ) M ,7 g |
1. ES I ) 4 7 +1.675 \2/7777
g g P - . g e . _ +1 509§
| i (e600 b H g
A 3 T v 2
o /) T ) 08 g
g o] .
g M - xpRE
S HHEERT (48)
LB R IERR @ A=0. 58m2
g Al i % X % B - = B | #HE
CE=X-V/ N= = 1.00 #Ffr 1.0
1A Y S
avyy—rk V= 1/2%(1. 721+1. 791) 1. 30%2. 20
24N/mm2 ~1/2% (1. 384+1. 432) %0. 90%1. 80
~1.924%1. 024%0. 148-0. 58%0. 20
-0. 70%0. 70%0. 20 = 2.24) m3 2.24
Eilp 2 — AR R, A5 A= 1/2% (1. 721+1. 791) 1. 30%2
+1/2% (1. 384+1. 432) %0. 90%2
+(1.721+1. 791) %2. 20+ (1. 384+1. 432) 1. 80
+0. 70%0. 20%3-0. 58+2-0. 70+0. 70%2 = 18.18] m2 18.18
HyLavosy—+r
18N/mm2 LA £ V= 2. 40%1. 50%0. 10 = 0.36) m3 0.36
ELEy LR
#yLavE A= (2. 40+1.50)*0. 10%2 = 0.78] m2 0.78
HEERA | BEHEREGAS)
£=200mm A= 2. 40%1.50 = 3.60| m2 3.60
GSL—FUiE
T-25, 1800%900, t=148mm N= = 1.00| #A 1.0
25y |303%138 N= = 4.00| {&@ 4.0
ST SD345, D13 T= = 137.00| kg 137.0
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%ﬁ% g 900 06 g 0 04
FEEEHEER © A=0. 58m2
& Al i % X % H = =® B | #WE
105 &k
N= = 1.00 #fr 1.0
1E8FRE Y=
avoly—¢ V= 1. 40%1. 40%1. 903-1. 00*1. 00*1. 597
24N/mm2 -1.12%1.12%0. 106-0. 58*0. 20
- (0. 70x%0. 58+0. 50%0. 40) *0. 20 = 1.76| m3 1.76
g —RR B, SKAR A= (1. 40%1.903+1. 00%1. 597) *4
+(0. 70%2+0. 58) *0. 20+ (0. 50%2+0. 40) 0. 20
-0. 58%2-0. 58+0. 70*2-0. 40*0. 50%2 = 15.35 m2 15. 35
HyLavsy—+r
18N/mm2 LIt V=1.60%1. 60x0. 10 0.26 | m3 0.26
B Ly LA
HyLarvA A= 1.60%0. 104 = 0.64] m2 0.64
EiEpR | BHAERAdS)
£=200mm A= 1.60%1. 60 = 2.56| m2 2.56
JL—FoTE
T-25, 1000%1000, t=106mm N= = 1.00| #8 1.0
SRERT SD345, D13 T= = 116.00| kg 116.0
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BET
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AR - KA AKX HAL| &
TS U L T
oy U—MEEHLEY 2 LT EHHEY)
BER B i B
A 2. 85%6. 86 = 19. 55
B 1. 20%5. 03 = 6. 04
C 2.67%1.51 = 4. 03
BEEX FiE= > (t=20cm)
(67. 60+2. 01+10. 91) *0. 20 = 16. 10
W% 555 L BE
0. 21%2. 62 = 0.55
BERX R K it
1. 34%1. 39%1. 73-0. 940. 95%1. 53 = 1.86
i = 48.13 | m3 48. 1
a7 U — MOl (BEF#EEY) © t=200mm)
BERX Pk = 6
A 1. 52+7. 84+1. 66+5. 32+1. 65+4. 39+1. 44 = 23. 82
{1l 1.97+1. 28 = 3.25
i = 27.07 m 27. 1
AsEEERRAB A (£=50mm)
{5 = 10.07 | m2 10. 1
AsEHZERRBIr  (£=50mm)
[l 5. 70+1. 97 = 7.67 m 7.7
BEak b o — 2B E (¢ 600)
= 6.02 [ m 6.0
OE N - ALy
Coit  HHEf 48. 13%2. 35 = 113.11 | ton 113. 1
Asik  Ksy 10. 07%0. 05%2. 35 = 1.18 | ton 1.2
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R R =l = B =
Wik 7 U — MMEIH
a7 )—hr 18N/mm224 F, t=200mm
WAl 26. 54%0. 20 5.31
Rief] (4. 28+4. 52)%0. 20 1.76
7 7.07 7.1 m3
St RC-40, t=200mm
A 26. 54
el 4. 28+4. 52 8. 80
i 35. 34 35.3 m2
A A D6-150 X 150
A= 35. 34 35.3 m2
H bt V#EE H HAR (t=10mm)
WER (0. 40+8. 24+1. 30+2. 20+1. 30+4. 96+0. 33) *0. 20 3.75
Fieffl (4. 28+0. 82+0. 95+4. 99) *0. 20 2.21
i 5. 96 6.0 m2
AsEiZEE IR
*=IE BRI As
A= 10. 06 10.1 m2
A RiFitf (M-30)
A= 10. 06 10.1 m2
T A 77y ¥ —7 v (C-40)
A= 10. 06 10.1 m2
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p P A - Tk -~ || FE (m) | HE (ke/m) | Kt B 1AM )& g (kg .
Al Al Bl R WXhXt> (mm) MR L W N (kg/A)  LXW LXWXN i %
rGan
e SP- 11 74! SYW295 6. 4 48.0 10 307. 2 3,072 |HEA
E2 N Loy SP-11 74 SYW295 6.4 48.0 1 307. 2 307 |HEA
&t 11 3, 379
FTHIAR
SP- 117} SYW295 6mLL T 11
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